The average variable cost curve and the average total cost curve get closer to each other as output increases. What explains this? 
TC = TFC + Q*AVC

Where, TC = Total Cost

TFC = Total Fixed Cost

AVC = Average Variable Cost 

Q = Number of units produced
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Now, ATC = TC/Q = TFC/Q + AVC
Clearly, 
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i.e., as Q becomes larger and larger, the term TFC/Q becomes smaller and approaches zero. Therefore, as the value of output (Q) increases, ATC and AVC get closer to each other. 

When would total cost equal fixed costs? 
TC = TFC when either Q = 0 or AVC = 0
But average variable cost can not be zero for all practical purposes. Therefore, TC = TFC when Q = 0, i.e., when there is no production. 

If marginal physical product is continually declining, what does marginal cost look like and please explain this answer because I am having major trouble understanding.
Marginal physical product (MPP) provides you with information that helps you determine the optimal amount of labor to employ. If the hiring of another worker does not result in an increase in output, then the additional worker should not be hired.

Further, the additional workers must produce output that covers the cost of employing the worker. Because of this, fewer workers may be hired than indicated by MPP.

If L units of labour are required where the wage rate is w dollars/ unit of labour, then the Total Cost is given as: 

TC = TFC + wL 
MC = 
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, as MPPL = Marginal Physical Product of Labour = 
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Clearly, if MPPL is continuously declining, MC would be continuously increasing in a rectangular hyperbolic fashion, as MC*MPPL = w = constant is the equation of a rectangular hyperbola. 
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A graph showing the AFC, AVC, and ATC curves.  Notice the U shape of the ATC curve.
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